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Problem-Design period

'+ Problem | : A small community had a population of 65000 and
85000 in the year of 1995 and 2005 respectively. Assuming a
geometric growth rate and an average WC of 300lit/cap/day. Calculate
the design flow for the treatment plant and the transmission main from
current year. Select an appropriate value for design period.

* Problem 2: The present population of a community is 160000
increasing at a geometric growth rate of 0.043 per yr. The present
water requirement of the community are fully met by a number of
tube wells installed in the city. The average WC is 3501/c/d using a
design period of 15 yrs. Calculate the number of additional tube-wells
of 3.4m3/min capacity to meet the demand of design period.

/’\ r.‘
PR N

) /
—— A | s j £ w7 [ AL ~ ]
,-” e ,-? _.‘, O U O u ;_, 'J' :;":’ . i / { Worpa £ W R 5
U % 3 / ’}.w / d F » / - .'. ; ’_)‘ ,-’ g : &
/\ [ IJ?‘: ' Ca J."- J ';l_/-"'i e A/ (‘C‘f‘ i 2
}(I—;. b”‘)f"fol,v'i /
3 " O J ] '/
s \/\jc e S550A//Y
\":/_ A ﬁfjw'ac/ = 1{ 4ye
¢ : - r 1L . l‘

Scanned by CamScanner



}Wle 200J ; J\/

%j’oo o Mky*ww

o b e oy
i ; Ghﬁ"fh\}'deaﬂﬁ 2037 k—?‘i—l ‘e‘Kb: /60000&0’0: ) 4;30{{9{7.?2 .o
lbDoo0 -
R Ll RO ST T o BER
; wj (ﬁ&’ /Uaﬂ‘f” /’/"ﬂ E @‘f‘]s 7. "175) : .
v o = 50y 2017+ 40 5 .
- L 'wb; )/M P - B60% (4445792

(&%" BU“‘ W7<P’(’ 7«037-> s §-07 ?g272 Q/J . .

 0.0263 x(2047-205¢ ) §0735-2 wi/d .

Wc?ﬂlg - 34 xgox =Y ?fmu »

Scanned by CamScanner



